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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Trend plot forP3-14 0
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P3-14
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P3-14
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P3-14

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

06:50 288 150.0 RS 1Ri&e06:50 Bah (FEEEE)
07:45 288 150.0 RS {Ri&e07:45 B (REAERE)
09:05 288 150.0 RS {Ri%@09:05 Bz (REEESE)
10:20 288 150.0 el Ri8@10:20 Bal (REAEESE)
11:25 288 150.0 BE| Rige11:25 Ba (REAERSE)
12:25 288 150.0 B Rige12:25 Bz (REAERE)
13:15 288 150.0 el Rige13:15 Bal (REAEESE)
14:15 288 150. 0 | Rige14:15 Bz (REERESE)
15:10 288 150.0 B 1Ri%e15:10 B3 CGGREMEESE)
16:15 288 150.0 S| Ri%e16:15 Bzl (REAERESR)
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